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4X70v2o R Arkadas T4I5R B & S| BA | BA | &£A |Bxaz| B
<= PAS O - 2|0 - 5 0 2 0 0 0 7 -7 3
Arkadas 2 - 0 * 0o - 2 1 1 0 3 2 2 0 2
J4ITR 5 - 012 - 0 YAS 2 0 0 6 7 0 7 1

4Y70vs s &Il 2ornvr | B & | BA | BA | £A |sxsE| B
o * T - 111 - 6 0 1 1 1 2 7 -5 3
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@ 9:00 ~ 9:35 <= 0 Vs 2 Arkadas RTF YA

@) 945 ~ 10:20 ~LF 1 Vs 1 &Il Arkadas

® 1030 ~ 11:05 <= 0 ve 5 4352 &1l

@ 1115 ~ 1150 LT 1 Vs 6 ZTH YA {J—

® 1200 ~ 1235 Arkadas 0 vs 2 YAIT5R ~ILF

® 12:45 ~ 13:20 B 3 Vs 2 RTFNYHF J4ITR

@ 1330 ~ 1405 <= 3 vs 2 RLF il

14:15 ~ 14:50 Arkadas 2 VS 0 RTF YA ~F

@ 1500 ~ 1535 PR 2 ve 0 o ATV




